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QUESTION 1

What is one imperative for IT in order to support today\\'s new generation of apps and data? 

A. IT must extend change management lifecycles to reduce risk. 

B. IT must be able to scale quickly and seamlessly. 

C. IT must expand the data center footprint. 

D. IT must deploy IoT devices that support next-gen analytic workloads. 

Correct Answer: D 

 

QUESTION 2

Which solution allows customers to independently scale compute and storage resources and to redefine them
dynamically? 

A. HPE SGI 

B. HPE Synergy 

C. HPE ProLiant Gen10 

D. HPE Nimble 

Correct Answer: B 

 

QUESTION 3

When assessing the potential impact of an HPE Edge-to-Cloud solution on an organization\\'s existing infrastructure,
which of the following is a key metric to collect and analyze? 

A. Customer churn rate 

B. Number of product returns 

C. Mean time between failures 

D. Employee satisfaction score 

Correct Answer: C 

 

QUESTION 4

Why might you recommend Proactive Care Advanced rather than Proactive Care? 

A. The company wants reports that are tailored for them. 
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B. The company needs monitoring 24x7. 

C. The company wants enhanced call handling. 

D. The company needs a dedicated HPE Account Support Manager (ASM). 

Correct Answer: D 

 

QUESTION 5

What is often the result of maintaining traditional development cycles? 

A. Operating costs and overhead decrease. 

B. Collaboration becomes more efficient. 

C. IT moves from a support role to a business role in the company. 

D. Line-of-Business (LoB) managers create their own stealth IT projects. 

Correct Answer: D 
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